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Purpose: Power amplifier applications.

B MR R [ /)N, 5 2SD1760 (3DAL760)  H kb
Features: Low Vesay, complements the 2SD1760 (3DA1760).

%P 2% /Absolute maximum ratings (Ta=25°C)

RIS /L[N LR A F—— J
Symbol Rating | Unit —
Vero -60 y o
Voo S0 | v T
Veno -5.0 \ — >
I -3.0 A — [t | Dl
P, 1.0 W  EETEE
A SEEEE
L 150 ¢ 3I8: 1.B 2.C 3.E
Teie -55~150 C TO-252
Hi 1k 8 S 3 /Electrical characteristics(Ta=25C)
o
LTS MR 2% A Rating LAY
Symbol Test condition EOME | B | S | Unit
Min Typ Max
Vero [=-501 A 1,=0 -60 V
Vero I=—1. OmA 1,=0 -50 y
Viso [=-501 A 1=0 -5.0 v
Loso Ve=—40V 1,=0 -1.0 nA
Lo Vi=—4. 0V 1.=0 -1.0 nA
hye Ve=—3. 0V I=—0. 5A 82 390
Ve (e I.=—2. 0A L=—0. 2A -1.0 y
Vi (eat I=—1.5A 1,=—0. 15A -1.2 v
f; Ve=—5.0V I1=—0.5A f=30MHz 70 MHz
Cu Ve=—10V  L[,=0  f=1.0MHz 50 pF
hee 7084 /hee Classifications:  P:82~180 Q:120~270 R:180~390
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